Instructions
Objective

The objective of this document is to provide guidance in identifying and solving Y2K related problems in computer systems, computer equipment, operating systems and communication networks, including devices which are automatically or half-automatically controlled by computers, and contain chip sets or firmware. This is achieved by creating a specific work plan, and following up on the progress, as well as by identifying additional problems and obstacles so they can be handled in time, and by drafting a contingency plan. These combined procedures should provide a general scheme to allow readily and tangible follow up on the progress in solving Y2K related problems.

1. How to fill out the form

2. The numbers between square brackets below refer to the same symbols on the Y2K-Form 2:

[A] - Define the different working units by specifying a ministry, a bureau or a juristic person, a registered company and an industrial section.

3. [B] - Clarify the importance of the systems (according to the definition in the enclosed document) by choosing between:

4. Systems of first-level importance: systems crucial for your business and must be finished within schedule.

5. Systems of second-level importance: system that are very important and should be finished within schedule.

6. Systems of third-level importance: systems that are less important.

7. Systems of fourth-level importance: systems that need no remediation.
[C] - Identify and report the specific Y2K solving tasks. This can be: correcting a working system or a particular action together with the work produced as the result of each process; for example, the work of document processing, accounting, computer equipment, communicating network, or non-IT: the equipment which is automatically or half-automatically controlled by computer using processors or firmware.

[D] - Degree of completion of the work of solving the year 2000 related problem and the estimated time scale/frame. The problem-solving process is divided in 5 steps to allow an estimation of the degree of completion. Each working process according to [B] contributes differently to the overall score according to its importance:

· The 1st step - the problem awareness, has a weight of 10.

· The 2nd step - the problem assessment, has a weight of 10.

· The 3rd step - the problem solving, has a weight of 30.

· The 4th step - the problem testing, has a weight of 30.

8. The 5th step - the implementation, has a weight of 20.

9. To enter the estimates for completion of the work identified in [C], having a weight according to the scale in [D], you can use 10 boxes. Each box has 1 mark. Put an X in the corresponding box in accordance with the mark you got in each process by using the rough information of various activities.

For organizations that wonder how to handle the problems the examples below can be used to measure progress in Y2K problem solving. As a result, if the some steps do not apply to certain systems, these activities can be considered already done (you can put an X in the box referring to those activities). Each activity consists of the following steps: 

Step 1: Problem Awareness
Are the people in your organization aware of the problem? This can be estimated by their understanding of the Y2K problems:
1. What is the Y2K problem? Although we use the Buddhist calendar or embedded system, we still can have problems.

2. What are the potential legal problems caused by Y2K (e.g. a contract involving the law about Y2K or a legal commitment about Y2K).

3. What is the potential impact of the Y2K problem.

4. What are the date(s) and time(s) that the problem will start (e.g. any effect of Y2K before January 1st, 2000).

5. Ways to solve the problems.

6. Source and estimation of the budget required.

7. Number of people required to solve the problem.

8. Procedures to develop a contingency plan.

9. Grouping the systems in order of importance.

10. Public companies or sections willing to help if necessary.

If any of these activities has already been finished, you get 1 mark. Sum up the score and put an X in the appropriate box. For instance, if you have finished the activities in 1, 2, 7 and 9, you got 4 marks, so put an X in the fourth box of the table associated with step 1.

Step 2: Problem Assessment

Problem assessment is the process of investigating, testing and evaluating the possible solutions. This process consists of:

10. Make a system inventory by investigating and drafting a list of components: both hardware and software, working-system software and database, network equipment and software of the network operating system, interfaces, communicating devices and embedded system equipment.

11. Ask the equipment provider for a Y2K warranty.

12. Evaluate the basic consequences of a malfunction of the working system.

1. Test the date-related effect (process 4-7)

13. Test hardware, software and firmware/BIOS.

14. Test the data file(s).

15. Test the application system.

16. Test the network system.

17. Calculate expenses, human resources and time required for solving the problem.

18. Assign priorities to the different tasks.

19. Preparing tools to save testing and evaluation time.

Mark the score as explained above. For instance, if you finished the activities under 1, 2, 3, 4 and 8, you've got 5 marks, so put an X in the fifth box of the table associated with step 2.

Step 3: Renovation Process
The renovation process is the process of solving the problems identified during to the problem assessment in step 2. This step consists of:

1. Setting up a Y2K task force.

2. Preparing sufficient human resources and time to solve the problem.

3. Drafting a contingency plan for every system.

4. Making a choice of repairing, replacing and retiring.

5. Choosing a suitable way to solve the problem.

6. Carrying out H/W, firmware/BIOS updates.

20. Implementing a solution for bad data file formats.

7. Implementing application system fixing.

8. Implementing network system repairing.

9. Implementing a contingency plan for every system.

Mark your score as outlined above. For example, if you have already finished the activities in 1,2,3,4,5 and 8 above, you've got 6 marks, so put an X in the sixth box of the table associated with step 3.

Step 4: Validation Process
The process of checking the systems after implementing a solution in order to make sure that the equipment works properly. This includes:

1. Testing H/W, firmware/BIOS after fixing to ensure that the solution works as expected. 

2. Testing the data.

3. Testing the application system.

4. Testing the network system after fixing.

5. Testing the operation with other systems.

21. These steps count double in the scoring system. If the activities in 1 and 3 above, for instance, were finished, you got 4 marks (2x2), so put an X in the fourth box of the table associated with step 4.

Step 5: System Implementation
The process of integrating a new or corrected system after standalone testing has been performed. This process consists of:

1. Testing the system without any connection to other systems.

2. Testing the system connection connected to other systems.

3. Test run of the contingency plan.

4. Announcing the readiness to face Y2K.

5. Having the readiness to face the Y2K problems audited by an outside organization.

22. These steps also count double in the scoring system. For instance, if you have finished the activities under 1 and 2 above, you've got 4 marks (2x2), so put an X in the fourth box of the table relating to step 5.

23. [E] - Summarize the overall plan and readiness: for the tasks identified under [C] you determine its overall completion status by multiplying the score obtained for each step  with its corresponding weight value, adding up all the scores and converting the result into a percent value, rounded off to a multiple of 10.
For example, suppose in the tables associated with step 1, 2, 3, 4 and 5 you've got an X in the fourth, fifth, sixth, fourth and fourth box respectively. In that case, the score for the overall plan and readiness of the task can be calculated as follows: 

24.     [[(4 x 10) + (5 x 10) + (6 x 30) + (4 x 30) + (4 x 20)] / 1000 ] x 100 = 47%

25. so we mark an X in the box labeled "50" of the table under the heading "Compliance/Readiness". If the score is more than or equal to 5% over value in the label, put an X in the next box. If the score is less than 5% over the value in the label, put an X in the same box.  For the above example, the total amount (47%) is more than 5% over he label value of 40 (47 > 45), so we have to put an X in the box labeled 50.

26. [F] - The Total Budget is the total budget allocated for solving the problems mentioned in [C].

27. [G] - The Estimated Expenses and Cash Basis should list the approximated expenses for which money was allocated in the total budget in [F], and to list expenses which already have been paid in the current budget year according to the problem solving list in [C].

28. [H] - Monthly Cash Basis should list the expenses made during the month reported in the form.

29. [I] - Accrued Basis should list the collective expenses made since you started the project.

30. 
At the bottom of the form, mention any issues you are concerned about, which will allow you to find a solution early on. Furthermore, it is necessary to list the name of the operator and the people who assess the work. Progress of the work should be reported every month in order to be able to accurately follow up on the progress.
